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Quiz #2, Q.ualltylcantrol 2018 Fall [+6 points]

Name:._ 75‘/}7%%% _ Yeu- Chieln
Let X ~ Bin(n=22, p=0.5). Answer up to 3 digits 0.xxx
4 | (D [+1] Approximate Pr(X <10) by the normal approximation with continuity correction.
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(:N %62) [+2] Explain the above answer by using a graph of the pdf of the normal distribution.
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3) [+1] Approximate Pr(X =10) by the normal approximation with continuity correction.
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+ ( (4) [+1] Calculate the exact value Pr(.X =10) using using (HJ = 646646
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(5) [+1] Whg% are the conditions/of the normal approximation for n and p ? Are they satisfied?
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